USING A CALCULATOR
Pearson Edexcel - Monday 12 November 2018 - Paper 3 (Calculator) Higher Tier

1.

1 (a) Write 7357 correct to 3 significant figures.

(b) Work out

V17 + 47

|

Write down all the figures on your calculator display.

(Total for Question 1 is 3 marks)

Pearson Edexcel - Monday 6 November 2017 - Paper 2 (Calculator) Higher Tier

2.

(o 758 & i Ama
5 sinm 25 + sin 40

& Use your calcolator to work out |, |——————————
Y cos25° — cos40°

(a) Write down all the figures on your caleulator display.

(b} Write your answer to part {a) comrect o 2 decimal places.

(Total for (Juestion ¥ is 3 marks)



Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier

3.

15 A cone has a volume of 98 cm’.
The radius of the cone is 5.13 cm.

_ _ _ Volome of come = L vy h
{a) Work out an estimate for the height of the cone. 3

cm

John uses a calculator to work out the height of the cone to 2 decimal places.

(b Will your estimate e more than John's answer of less than John's answer?
Grive reasons for your answer.

{Total for Question 15 s 4 marks)

Pearson Edexcel - Monday 8 June 2015 - Paper 2 (Calculator) Higher Tier

4.,
- (T0.25
3 Use vour caleulator to work out e
43 =237

{a) Wnte down all the figures on vour caleulator display.
You mmst give your answer as a decimal.

(b) Wnite vour answer to part (a) correct to 4 decimal places.

{Total for Question 3 is 3 marks)



Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier

5.

3 x=07

Work out the value of HT—“—

£X

Write dovwn all the figures on your calculator display.

(Total for Question 3 is 2 marks)

Pearson Edexcel - Friday 8 November 2013 - Paper 2 (Calculator) Higher Tier

6.

7056

1 (a) Use your calculator to work out ————
0.35x12.8

Write down all the figures on your calculator display.
You must give your answer as a decimal.

(b) Write vour answer to part (a) correct to | significant figure.

(Total for Question 1 is 3 marks)



Pearson Edexcel - Monday 4 March 2013 - Paper 2 (Calculator) Higher Tier

7.

|tan60® + 1

17 Caleulate the valoe of | | =———
- T Y aner —1

Write down all the figures on your calculator display.
You must give your answer as a decimal.

(Total for Question 17 is 2 marks)

Pearson Edexcel - Thursday 8 November 2012 - Paper 2 (Calculator) Higher Tier

8.



1 Use a calculator to work out

204
6.2 x 048

Write down all the figures on your caleulator display.
Give your answer as a decimal.

(Total for Question 1 is 2 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier

9.

385 %142

184 - 59
Write down all the figures on your calculator display.
You must give your answer as a decimal.

2 (a) Use your calculator to work out

{b) Write your answer to part {a) correct to 1 significant figure.

(Total for Question 2 is 3 marks)




Pearson Edexcel - Monday 5 March 2012 - Paper 4 (Calculator) Higher Tier

10.

S 375
19-1.7

Write down all the figures on your caleulator display.
You must give your answer as a decimal.

5 (a) Use your caleulator to work out

3)

(b} Write your answer to part {a) cosrect to 2 decirmal places.

{ Total 4 marks)

Pearson Edexcel - Monday 14 November 2011 - Paper 4 (Calculator) Higher Tier
11.

1. (a) Use your calculator to work out

w215
5.8-236

Write down all the figures on your calculator display.

@

(k) Write down your answer to part (a) correct to 2 decimal places.

S

(Total 3 marks)




Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier

12,

13. Use your calculator to work out

920 =170 tan 65
0012 +0.034

(a) Write down all the figures on vour calculator display.
You must write your answer as a decimal.

i2)
(b} Give your answer to part (a) correct to 3 significant figures.
i1y

{Total 3 marks)

Pearson Edexcel - Friday 12 November 2010 - Paper 4 (Calculator) Higher Tier

13.

9. Usa your caloulabor bo work oul

13.7 + 5.84
254 =377

Wirile dowen all the figuras on your calculalor display.
“iow must give your answer as a decimal.

(Total 2 marks)

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier

14.



2
b (a) Use r calculalor o work oul ———
@ you 1.5+2.45

Wrile down all the Tigures on your calculalor display.
o mmusl give your answer as a decimal.

@
(b)) Wrile your answer 1o part (a) corract bo 2 decimal places.

(Total 3 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier

15.

B7x123
95-573
Write down all the digits from your calculator.

Give your answer as a decimal.

2. (a) Use your calculator to work out the value of

(b) Write your answer to part (a) correct to 1 significant figure.

(Total 3 marks)




OCR GSCE - Sample Papers — Paper 4 (Calculator) Higher Tier

16.

12 (a) Without using a calculator, show that /20 = 2,/5. [2]

(b) The point A is shown on the unit grid below.
The point B is 2\'5 units from A and lies on the intersection of two grid lines.

Mark one possible position for B.

B3]



AQA GSCE - Thursday 8 November 2018 — Paper 2 (Calculator) Higher Tier
17.

11 An approximation for the value of T is given by

(122 B 2 B
\ 57 85 106 117 242

o

Use your calculator to show that this approximation is within 0.1 of 3.14
[2 marks]

AQA GSCE - Sample Paper 3 (Calculator) Higher Tier
18.



8 (a) Use your calculator to work out 19.42° - 1006 - 4.95

Write down your full calculator display.
[1 mark]

Answer

8 (b) Use approximations to check that your answer to part (a) is sensible.

You must show your working.
[2 marks]




